
  

 

 

13 𝐯 = 𝟓𝐢 − 𝟐𝒋

A〈𝟓 , 𝟐〉B〈𝟐 , 𝟓〉C 〈𝟓 , −𝟐〉D 〈−𝟐 , 𝟓〉

14 𝐯𝟏𝟒𝟐𝟏𝟎°

A〈𝟕 , 𝟕√𝟑〉B〈− 𝟕√𝟑 ,− 𝟕〉C 〈−𝟕√𝟑 , 𝟕〉D 〈𝟏𝟒 , 𝟐𝟏𝟎〉

15 𝐮 = 〈𝟑 , −𝟐〉, 𝐯 = 〈𝟓 , 𝟕〉𝐮 . 𝐯

A−𝟏𝟒B−𝟏C 𝟏D 𝟏𝟓

16 𝐮 = 〈𝟏 , −𝟐〉, 𝐯 = 〈𝟑 , 𝒌〉𝒌

A−𝟐B
−

𝟑

𝟐

C 𝟑

𝟐

D 𝟐

17〈𝟐 , 𝟎〉 , 〈𝟑 , 𝟑〉 

A𝟑𝟎°B𝟒𝟓°C 𝟏𝟐𝟎°D 𝟏𝟑𝟓°

18 𝑨𝑩⃑⃑⃑⃑⃑⃑ 𝑨(𝟑 , 𝟒 , −𝟒),𝑩(−𝟓 , 𝟐 , 𝟏)

A〈−𝟖 , −𝟐 , 𝟓〉B〈𝟖 , −𝟐 , −𝟑〉C 〈𝟖 , 𝟐 , −𝟑 〉D  〈−𝟖 , −𝟐 , −𝟑〉

19 𝒘 = 𝟓𝐢 + 𝟑𝒋 − √𝟐𝒌

A𝟖 − √𝟐B𝟔C 𝟖 + √𝟐D 𝟒√𝟐
20 𝐮 = 〈𝒃 , −𝟑 , 𝟏〉, 𝐯 = 〈−𝟐 , −𝟏 , 𝟑〉𝒃𝐮 , 𝐯

A−𝟔B−𝟑C 𝟑D 𝟔

21 

𝑨(𝟐𝟎 , 𝟐𝟓 , 𝟑𝟎 ) , 𝑩(−𝟑𝟎 , 𝟏𝟓 , 𝟏𝟎)

A𝟏𝟎√𝟑𝟎B𝟑𝟎√𝟏𝟎C 𝟑𝟎𝟎D 𝟑𝟎𝟎𝟎

22 
|
𝐢 𝐣 𝐤
𝟏 −𝟐 𝟎
𝟐 𝟎 −𝟏

|

A𝟐𝐢 + 𝐣 + 𝟒𝐤 B−𝟐𝐢 + 𝐣 − 𝟒𝐤 C 𝟐𝐢 − 𝐣 + 𝟒𝐤 D −𝟐𝐢 − 𝐣 − 𝟒𝐤 

23 𝐮 = 〈𝟏 , −𝟐 , 𝟎〉 , 𝐯 = 〈𝟐 , 𝟎 , −𝟏〉𝐮 × 𝐯

A𝟐𝐢 + 𝐣 + 𝟒𝐤 B−𝟐𝐢 + 𝐣 − 𝟒𝐤 C 𝟐𝐢 − 𝐣 + 𝟒𝐤 D −𝟐𝐢 − 𝐣 − 𝟒𝐤 

24 𝐮 = 𝟕𝐢 + 𝟐𝐣 − 𝟐𝐤𝐯 = 𝟒𝐢 + 𝟑𝐣 − 𝐤

A𝟏𝟑B𝟐𝟏C √𝟏𝟖𝟔D √𝟒𝟓𝟖
25 𝐮 = −𝟔𝐢 − 𝟐𝐣 + 𝟑𝐤𝐯 = 𝟒𝐢 + 𝟑𝐣 − 𝐤  𝐭 = 𝟐𝐣 − 𝟓𝐤  

A𝟑𝟏B𝟔𝟐C 𝟕𝟑D 𝟖𝟔

33 

  


